MM |G| BT | R | {5 T =7 2
== ik
s A | ekl | 2mE | )

St 1| AA 19 3.8

FEERIL AA 78 9.4

St i BA 23 24.0

FEERIL BA 24 14.3

St 1| BA 46 3.7

FEERIL BA 55 6.9

St 1| BB 21 6.9

FEERIL CA 14 4.1

FEERL CA 20 3.9

FEERIL CA 45 7.8 | R3EE
St i CA 51 5.8

FEERIL CA 58 7.0

St 1| CA 68 11.5

FEERIL CA 71]2 2.8

St 1| CA 90 7.4

FEERIL CA 103 12.0

St 1| CB 4 6.2

FEERIL CB 5 6.9

St 1| CB 8 8.7

FEERIL CB 9 7.1

FEERL CB 10 5.5

FEERIL DA 12 8.0

St i DA 23 18.2

FEERIL DA 34 6.2

FEERL DA 37 10.8

FEERIL DA 46 4.2

ERIL DA 54 33.8 | RAKE
FEERIL DA 81 5.4

St 1| DA 129 21.2

FEERIL DB 4 4.7

EERL DB 6 5.6

FEERIL EA 27 7.3

EERL EA 45 4.9

FEERIL EA 481 9.6

St il EA 49 15.7

FEERIL EA 59 9.6

St 1| EA 67 16.9

FEERIL EA 68 12.9

FEERIL EA 83 9.0 | R3X=
FERI EA 131 13.3

ERIL EB 5 6.5 | R3X=E
FEERIL FA 5 7.4

St 1| FA 11 20.6

FEERIL FA 28 6.6

St 1| FA 66 6.4

FEERIL FA 93 12.1

EERL FB 5 6.7

FEERIL GA 1 17.8

St i GA 11 3.5

FEERIL GA 12 6.2

SEHE IR EH (R7)




4 B | BT 5 | B A ik BT =7 =3
== 5%

FEERIL GA 23 6.4

FEERIL GA 36 35.4

FEERIL GA 58 6.0

FEERIL GA 69 5.2

FEERIL GA 88 3.8

SEHE IR EH (R7)




EihA B | BT 5 | B A ik BT =7 =3
== ik
St 1| GA 91 8.0
FEERIL GA 101 10.2
St 1| GA 105 15.2
FEERIL GA 114 16.8
St 1| GA 121 8.7
FEERIL GA 129 40.8
St i GB 4 6.0
FEERIL GB 24 9.2
St 1| GB 31 6.6
EXL HA 4 4.5 *
St 1| HA 10 3.5
FEERIL HA 11 6.4
FEERL HA 13 5.2
FEERIL HA 18 7.2
St i HA 20 6.6
FEERIL HA 53 6.6
St 1| HA 60 8.4 ™
FEERIL HA 68 21.2
St 1| IA 3 14.3
FEERIL IA 5 46.0 [ |
FEERL IA 13 6.5
FEERIL IA 21 8.4
St 1| IA 33 12.3
FEERIL IA 35 20.2 | R3KE
St 1| IA 43 7.8
ERI IA 48 6.0 ]
St i IA 56 8.3
FEERIL IA 57 6.1
FEERL IA 64 21.0
FEERIL IA 65 13.9
St il IA 70 10.2
FEERIL 1B 1 6.6
St 1| IB 5 7.7
FEERIL 1B 6 6.7
St 1| IB 7 7.2
FEERIL 1B 8 6.9
FEERIL JA 10 3.7
ERI JA 14 5.3 ]
St i JA 42 3.4 m
FEERIL JA 49 6.3
FEERIL JA 52 6.7
ERI JA 77 9.9 ]
FEERIL JA 85 8.4
FEERIL KA 23 8.7 | R3IKE
EERL KA 33[1 3.8
FEERIL KA 38 6.2
St 1| KA 60 22.0
FEERIL KA 90 16.8
EERL KA 91 3.9
104
/EE 1,045.7 | 104[X[H|

SEHE IR EH (R7)




SEHA | R | ST | RO i S 1ERT =7 2
== 5%

Tk A 214 1.5 | R3iki&E

i A 215|11 3.2

Tk A 233 15.7 | 234&F—

i A 239 20.0

ik A 252 10.9 [ |
% A 277|1 10.0 *
Tk A 282 22.8 | R3IGE

i A 287 8.7

ik A 288 6.2

i A 293 8.0

Tk A 295 8.4 | R3iki&

i A 301 4.5 [ |
ik A 307 6.0

i A 323 10.6

ik A 335|1 5.5

i A 362 8.0

ik A 363 8.0 | H29i%

i A 382 14.0

ik A 388 10.5

% A 398 7.8 *
ik A 401 8.0

% A 403 8.2 *
ik A 470/2 5.3 [ |
i A 467 5.5

ik A 476 11.2 *
i A 530 6.1 [ |
ik A 537 5.6 *
% A 538 5.0 *
ik A 552|1 15.0 *
i A 577 9.0

ik A 579 6.9 [ |
% A 584 14.4 *
i A 610 5.7 | 611&#5 *
i A 614|2 18.0

ik A 615 14.8

i A 620 6.2 | R3BGE

ik A 623 27.0

i A 626 20.0

Tk A 633 4.0 | R3ikE

i A 640 13.2 [ |
ik A 670 13.8 [ |
i A 673 7.5

ik A 688 8.0

% A 697 2 143 Sy A R 4 B *
ik A 748 8.1

i A 777 19.3 |  R3BGE

ik A 791 19.7

i A 806 20.8

ik A 828 4.3 [ |
% A 834 9.1 *
ik A 844|1 4.4

SEHE IR EH (R7)




A, | FOE | BT | B | % FRT =7 =
YEH =
i A 851 15.0 [ |
FE A 876 4.0
i A 891 9.7
FE A 897 5.0
i A 900 7.4
FE A 917 5.7 [ |
i A 930 8.2 *
FE A 978 3.7
i A 1011 4.3
FE A 1015 7.8
i A 1023 3.7

SEHE IR EH (R7)




A

|V

||
(i
afo

o | B A |

VEETF =7
EXH
4.0
3.9
5.3

=S
ke
3.9
14

]

2.3

17 5.6
4.3

42 4.5

6.8

8.0

5.9

5.3

6.2

6.2| R3K

4.4

63 4.1

68

i

5.9
5.9
5.9
4.5
4.3
5.9
3.2
4.2

3.4
4.1
93

7.5
7.5
4.1
96 4.7
97 4.3
4.7
3.5
3.5
7.7
1.7
7.8
4.8
5.6

100
101
102
103

105
106
107 5.6
110 3.0
111 3.1
112 4.8
114
115
119
120
121
125

142

143

4.8

5.6

4.0
4.0

3.9
4.8
4.4
4.7
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SEHA | R | ST | RO i S 1ERT =7 e
== 5%

ik B 146 2.4

i B 150 5.2

ik B 151 5.1

i B 153 5.1

ik B 156 2.1 [ |

i B 163 3.2

ik B 172 6.3

i B 173 6.2

ik B 174 7.3

i B 175 3.3

ik B 176 3.3

i B 178 3.3

Tk B 180 2.0 | RIE

i B 187 5.3

ik B 188 5.3

i B 190 4.3

ik B 192 3.7

i B 193 3.7

ik B 204 4.7 | H2TEGE

i B 207 2.2

ik B 208 5.7

i B 211 1.8 [ |

ik B 230 4.3

i B 233 4.9

ik B 234 4.9

i B 235 5.2

ik B 249 5.4

i B 250 8.0

ik B 257 2.9

i B 261 7.1 [ |

ik B 271 4.8 | H291%

144
/EE 996.4 | 144[X[H
PEED A 1 10.3 [ |
PEVED E A 15 12.9 [
PEED A 30 3.7 [ |
PEED E A 32 7.5
PEED A 68 15.0 [ |
PEVED E A 70 7.7 [
PEED A 78 8.3
PEVED E A 82 7.0
PEED A 100 3.5
PEVED E A 140 13.3
PEED E A 145 2.9 [ |
FEVED b A 147 6.8 [
PEED E B 4 2.5
13
/NE 74.4 | 13X

SEHE IR EH (R7)




sEMg | RO | BRI R R % FRT =7 (e
== 5%

1 —1 A 15 4.0 [ |
fElil—1 | A 30 13.0

1 —1 A 37 7.8

fElil—1 | A 40(1 8.0

1 —1 A 44 17.6

fElil—1 | A 54 5.5

1 —1 A 80 7.5

fElil—1 | A 89 5.4

1 —1 A 95 8.0

1 —1 A 100 7.0 *
1 —1 A 101 12.0

el —1 A 105 8.9

1 —1 A 110 3.7

fElil—1 | A 124 11.6

1 —1 A 161 3.0

fElil—1 | A 175 5.7

1 —1 A 183 3.0 [ |
1 —1 A 190 5.0 [ |
1 —1 A 195 4.4

1 —1 A 201 13.9 *
1 —1 A 217 7.0 | R3IGE

I —1 A 239 4.5 *
1 —1 A 240 4.1 [ |
I —1 A 243 11.7 [ |
1 —1 A 276 13.7

fElil—1 | A 284 8.0

1 —1 A 295 7.4 *
1 —1 A 309 4.9 [ |
=1 A 328 7.8 | R3ZH#

fElil—1 | A 344 5.9

1 —1 A 350 8.0

-1 A 399(2 17.5 [ |
1 —1 A 439(2 4.8 [ |
fElil—1 | A 441 4.6

1 —1 A 443 18.0

fElil—1 | A 4521 4.3

1 —1 A 453|1 10.6

1 —1 A 455 24.0 [ |
1 —1 A 468 6.9 *
fElil—1 | A 4722 5.1

1 —1 A 476 3.3 *
1 —1 A 482 2.3 *
1 —1 A 483 5.8 *
fElil—1 | A 510 3.0

1 —1 A 512 12.9 [ |
1 —1 A 515 9.6 *
1 —1 A 529(1 9.9 | wiECky KL %
1 —1 A 541 12.5 *
1 —1 A 544 4.8

fElil—1 | A 500 11.5

SEHE IR EH (R7)




sEMg | RO | BRI R R % FRT =7 (e
== 5%

fElil—1 | A 5011 8.1

1 —1 A 570 4.8

1 —1 A 574 8.3 | R3=E

1 —1 A 609 5.4

1 —1 A 613 6.1 *
L1 —1 A 616 3.9 | R3IEGE

fEll—1 A 648 6.4

1 —1 A 650 8.0

fElil—1 | A 652 5.0

1 —1 A 663 6.8 [ |
fElil—1 | A 665 12.5

1 —1 A 672 5.4 [ |
fElil—1 | A 684|1 8.0

1 —1 A 684|2 8.0

fElil—1 | A 687 8.9

1 —1 A 693 3.4 [ |
1 —1 A 704 12.4 *
1 —1 A 710 10.1 *
fElil—1 | A 723 8.2

1 —1 A 734 9.6 *
fElil—1 | A 735 7.9

1 —1 A 738 8.8 *
fElil—1 | A 741 20.1

1 —1 A 742 4.9

1 —1 A 777 9.1 *
1 —1 A 779 10.3

1 —1 A 794 2.6 [ |
1 —1 A 804 12.0

1 —1 A 806 7.3 *
fEl1—1 A 966 6.4 | R3ZHt *
fElil—1 | A 982 6.0

1 —1 A 997 3.6

fElil—1 | A 1006 12.0

1 —1 A 1007 25.0

fElil—1 | A 1024 12.0

1 —1 A 1040 10.3 [ |

SEHE IR EH (R7)




sEMg | RO | BRI R R % FRT =7 (e
== 5%

fEl1—1 B 14 8.0

1 —1 B 15 8.0

el —1 B 18 4.3

L1 —1 B 23 3.9 | R3IGE

1 —1 B 26 2.4 [ |

1 —1 B 27 2.8

fEl1—1 B 30 3.2

1 —1 B 31 2.3 [ |

1 —1 B 36 6.0 *

1 —1 B 42 6.8

el —1 B 46 2.5

1 —1 B 47 6.9

el —1 B 48 5.6

1 —1 B 50 12.9

el —1 B 51 5.6

1 —1 B 53 6.8

HE1—1 B 58 6.0 | EFHAT] *

1 —1 B 63 9.3

1 —1 B 78 6.2 | R3X=E

il —1 B 80 12.6 | EHAT] *

1 —1 B 82 6.0 *

1 —1 B 84 3.2

el —1 B 100 6.8

1 —1 B 103 6.1

el —1 B 107 4.6

L1 —1 B 109 4.0 | R3ikiE

el —1 B 111 7.4

1 —1 B 120 3.2

el —1 B 148 4.8

1 —1 B 153 3.8

1 —1 B 156 3.6 *

1 —1 B 157 3.6 *

el —1 B 171 3.5

1 —1 B 177 3.3

1 —1 B 182 3.9| R3Z#

1 —1 B 184 5.8

fEl1—1 B 185 5.8

1 —1 B 186 4.8

SEHE IR EH (R7)




|V

0

VBT =7

A, e | =TS [HIAE ik / =3
== 5%

fEl1—1 B 188 4.2

1 —1 B 189 4.5

el —1 B 190 4.4

1 —1 B 191 5.3

el —1 B 199 2.9

1 —1 B 208 3.3
fEl1—1 B 221 5.6

1 —1 B 222 4.9

el —1 B 223 4.9

1 —1 B 224 5.0

el —1 B 225 4.9

1 —1 B 226 4.9

el —1 B 227 4.9

1 —1 B 228 4.9

el —1 B 231 4.2

1 —1 B 232 4.3

el —1 B 233 4.3

1 —1 B 234 4.3

el —1 B 235 4.2

1 —1 B 239 4.0

el —1 B 240 4.0

1 —1 B 241 4.0

el —1 B 242 4.0

-1 B 244 7.4 | R3ZH
el —1 B 245 5.4

1 —1 B 246 7.1

el —1 B 261 8.0

150
/NEE 1,052.2 | 150X

SEHE IR EH (R7)




Mg || TR R | m i T =7 %
== 5%

frlhil—2 | A 29 4.9

H1—2 A 412 5.0

frlil—2 | A 49 7.1

H1—2 A 50 14.3

flil—2 | A 52 7.3

H1—2 A 54 16.5

flil—2 | A 56 16.2

Wil —2 | A 60 75| EADY

frlil—2 | A 84 6.6

H1—2 A 137 8.0

frlil—2 | A 138]2 1.6

H1—2 A 152 8.0

#lh1—2 | A 165]2 10.9 | #®icsy *
H1—2 A 174 17.1

frlil—2 | A 183 9.6

H1—2 A 190 5.5

frlil—2 | A 200 11.8

H1—2 A 210 3.2

frlil—2 | A 214 6.7

H1—2 A 220 10.3

flil—2 | A 234|1 7.5

H1—2 A 234|2 8.0

el —2 | A 236 8.8 [ |
H1—2 A 237 36.7

frlil—2 | A 250|1 6.3

H1—2 A 267 7.9

frlil—2 | A 294|1 5.4

H1—2 A 298 16.1

flil—2 | A 314 8.0

H1—2 A 344 17.2 [ |
fEll—2 | A 351 21.4 | R3IGE

Hh1—2 A 352 24.3 [ |
frlil—2 | A 362 3.9

H1—2 A 362|2 8.1

flil—2 | A 389 9.7

H1—2 A 405 7.4

flil—2 | A 406 10.0

H1—2 A 421 13.0

frlhil—2 | A 425 13.0

H1—2 B 17 3.3

fEl1—2 B 19 6.2 [ |
H1—2 B 32 5.6

fEl1—2 B 37 4.5 [ |
H1—2 B 86 5.8

1 —2 B 96 6.0

H1—2 B 97 6.0

1 —2 B 98 4.9

H1—2 B 99 2.8

1 —2 B 100 2.5

H1—2 B 101 2.2

50
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MM |G| BT | R | {5 T =7 2
== 5%

fE2—1 A 44 32.3

fEl2—1 A 50 8.1 *
Hh2—1 A 55 12.9 [ |
fEl2—1 A 60 3.2 [ |
fEl2—1 A 62 13.2

fEl2—1 A 74 14.8 *
Hh2—1 A 81|1, 2 19.3 *
fEli2—1 A 87 8.0

fEl2—1 A 93|1 8.0

fEli2—1 A 101 8.9

fEl2—1 A 1062 4.4

fEliz—1 | A 119 42.9 *
fEl2—1 A 145 9.3

fEli2—1 A 148 12.6

fEl2—1 A 202 14.0

fEli2—1 A 215 18.7

fEl2—1 A 224 6.9

fEli2—1 A 225 8.0

fEl2—1 A 231 12.5

fEiz—1 | A 238 27.2 *
fEl2—1 A 252 5.6

fEli2—1 A 263 5.4

#il2—1 A 264 7.0 *
fEliz—1 | A 306 34.5 *
fE2—1 A 311 7.0

fEli2—1 | A 313 5.4

#il2—1 A 331 5.7 *
fElhi2—1 | A 340 10.9 | R3BGE

fE2—1 A 342|1 4.0

fEliz—1 | A 348]1 10.0 *
#il2—1 A 357 8.4 *
feli2—1 | A 370 6.2 ]
fEl2—1 A 385 10.6

fEli2—1 A 390 20.0

fEl2—1 A 439 8.0

fEli2—1 A 4421 18.5

fEl2—1 A 461 8.9

fEl2—1 A 472 11.9 [ |
#il2—1 A 484 9.0 *
fEl2—1 A 495 3.3 *
Hh2—1 A 502 5.8 *
fEli2—1 A 505(1 8.0

fEl2—1 A 545 6.7

fEli2—1 A 554 8.0

fEl2—1 A 555 9.9

fEli2—1 A 556 8.2

#il2—1 A 560 7.2 *
fEl2—1 A 565 18.5 *
#il2—1 A 594 9.6 *
fEli2—1 A 604[2 7.1

SEHE IR EH (R7)




sEMg | RO | BRI R R % FRT =7 (e
== 5%

fEl2—1 A 613 11.0 *
Hh2—1 A 618 6.7 *
fElhi2—1 | A 623 4.3

Hh2—1 A 627 7.5 *
fElhi2—1 | A 642|1 4.2

Hh2—1 A 647 8.0

fElhi2—1 | A 6512 1.4

Hh2—1 A 659 7.0

fEli2—1 | A 667 9.3

Hh2—1 A 689 3.9

fEl2—1 A 703 7.6 *
Hh2—1 A 713 8.5

fEl2—1 A 717 1.0 *
Hh2—1 A 717 2.0 *
fEl2—1 A 737[1 6.3 *
Hh2—1 A 775 11.2 *
fEl2—1 A 777 2.9 *
Hh2—1 A 785|2 13.0 *
fEl2—1 A 791 15.2 *
Hh2—1 A 793 4.0

fEl2—1 A 806]1 9.3 [ |
Hh2—1 A 813 6.0

fElhi2—1 | A 814[1 4.3

Hh2—1 A 819 17.6 [ |
fEl2—1 A 828 5.5 *
Hh2—1 A 834|1 13.4 [ |
fE2—1 A 837 3.8 | RIKXE

Hh2—1 A 842|1 7.2

fElhi2—1 | A 855 20.0

H#E2—1 A 857 9.1 | R3IGE

fEli2—1 | A 863 15.2

H#2—1 A 870 6.7 | R3ILGE

fEl2—1 A 874|1 27.0 *
Hh2—1 A 885 9.2

SEHE IR EH (R7)




VBT =7

B4, AL | AT [HifE py }’gi

fElhi2—1 | A 895 4.0

Hh2—1 A 920 9.9

fElhi2—1 | A 923 6.6

Hh2—1 A 925 8.5

fElhi2—1 | A 933 8.4

Hh2—1 A 946 6.9

fEli2—1 A 952 13.8

Hh2—1 A 957 5.1 *

fEl2—1 A 959 6.9 *

Hh2—1 A 977 12.2 *

fEli2—1 A 982 13.3

Hh2—1 A 984 7.8

fElhi2—1 | A 986 8.0

Hh2—1 A 1013 8.6

fEli2—1 | A 1031 12.6

Hh2—1 A 1062 13.2

fEli2—1 A 1064 12.0 i

Hh2—1 A 1078 11.5

fElhi2—1 | A 1084 3.7

Hh2—1 A 10842 3.7

fEl2—1 A 1089 10.1 *

Hh2—1 A 1101 16.2 *

fl2—1 A 1118 13.3 [ |

Hh2—1 A 1121 20.2 [ |

fEl2—1 A 1126 11.9 *

Hh2—1 A 1135 9.0

fEli2—1 | A 1137 3.0

wEie—1 | A 1152 17.7 i

iEl2—1 A 1153 21.8 [ |

iEl2—1 A 1154 16.4 *

iEl2—1 A 1162 12.5 *

Hh2—1 A 1164 8.0

fEli2—1 A 1178 3.9

Hh2—1 A 1180 11.1

fEli2—1 A 1187 6.0

Hh2—1 A 1189 13.2

fEli2—1 A 1191 4.4

Hh2—1 A 1195 9.0

fEl2—1 A 1227 17.8 [ |

Hel2—1 A 1229 5.9 i

iEl2—1 A 1251 17.3 *

Hh2—1 A 12571 8.9 [ |

iEl2—1 A 1257 7.7 [ |

Hh2—1 A 1262 3.8 *

iEl2—1 B 16 6.6 *

Hh2—1 B 54 4.2 [ |
/NET 1,320.6

Hh2—2 A 118 8.0

fElhi2—2 | A 121 3.6




Mg | RS | ST | B | % (T =v7 2
== e
2 —2 A 195 19.8 | #tcry tuxmzm
wilhi2—2 | A 222 9.9
fEL2—2 A 245 9.7 | R3EE
5
/NEE 51.0 5 X[

SEHE IR EH (R7)




MM |G| BT | R | {5 T =7 2
== T
ZJM1036 | A 7 7.8 u
FJM1036 | A 14 9.8 n
1036 | A 24 12.5
ZHM1036 | A 28 6.7 | R3EE
ZH1036 | A 51 5.6 u
ZJM1036 | A 58 7.6 n
1036 | A 59 5.1
ZJM1036 | A 60 5.1
ZHH1036 | A 85 9.0 | R3BE
ZJM1036 | A 98 4.4 n
ZHH1036 | A 109 8.5 u
ZJM1036 | A 116 7.9 n
1036 | A 126 13.0
ZJH1036 A 130]2 4.9 |pmcs pexmm *
1036 | A 146 14.0
ZJHH1036 | A 168 6.8
1036 | A 173 10.0
ZHM1036 | A 176 13.2 [ |
1036 | A 180 9.5
ZJM1036 | A 205 9.1 n
1036 | A 227 6.9
ZJHH1036 | A 230 8.5
ZJH1036 | A 252 8.5 | RIKE
ZJM1036 | A 265 7.5 n
ZMH1036 | A 2811 9.1 [
ZJM1036 | A 289 4.4 n
ZJH1036 | A 294 3.9 | R3ixiE
ZHM1036 | A 299 8.4 | R3EE
1036 | A 303 10.1
ZJHH1036 | A 314 7.0
ZJH1036 | A 340 4.1 | H29GE
31
/NEE 248.8 | SLIXHI

/1049 A 52 12.9 | RA4BGE *
ZIM1049 | A 94|2 4.0 *
ZH1049 A 87 9.6 | R3BGE

3
/NEE 25.8 3K [

INAKA A 76 11.1 [ |

NS A 85|1 21.0

INAKA A 98 5.0

NS A 1031 10.3

INAKA A 108 4.7

NS A 129 3.5

VAV N A 142 6.2

NS A 146 12.5

INAKRA A 165 5.0

SEHE IR EH (R7)




SEHA | R | ST | RO i S 1ERT =7 2
== 5%
NAHA A 190 6.7
INAKA A 195 15.0
NS A 196 8.0
INAKA A 201 8.4
NS A 208 3.5
INAKA A 224 34.8
NS A 227 22.8
INAKA A 229 18.2
NS A 241 17.5
INAKA A 262 20.5
NS A 266 11.4
INAKA A 279 18.2
NS A 282 16.5
VAV N A 283 7.8
NS B 5 3.2
INAKA B 20 4.4
25
/NEE 296.1 | 251X

SEHE IR EH (R7)




SEHA | R | ST | RO i S 1ERT =7 e
== 5%

A AA 4 6.8 [ |

A AA 46 7.3 [ |

A AA 96 17.1

A AA 113 12.4

FEHL AA 146 10.8 | R3IIE

A AA 149 4.8

A AA 174 13.4 [ |

A AA 175 8.0

A AA 191 5.0

A AA 193 14.4

S AB 9 8.1

A AB 10 7.0

A AB 14 5.0

A AB 17 4.3

A AB 27 6.1

A AB 30 7.0

A AB 40 6.9

A AB 41 7.0

A BA 16 6.3

A BA 18 18.9

A BA 32 6.6 *

A BA 33 9.1 *

A BA 47 7.5

A BA 51 6.4

S BA 53|6 9.4

A BA 63 5.9 [ |

A BA 70 7.5

A BA 71 6.6

A BA 79 9.3 [ |

A BA 80 11.9 [ |

A BA 87 39.6

A BA 88 25.0

S BA 98 8.0

A BA 103 21.7

A BA 108 9.7

A BA 114 16.3

A BA 124 11.2

A BA 126 6.8 [ |

S BA 127 20.0

A BA 151 24.2

AL BA 172 7.1 [ |

A BA 175 7.2

A BA 178 9.0

A BB 2 6.9

A BB 15 8.2

A BB 19 7.0 [ |

SEHE IR EH (R7)




SEHA | R | ST | RO i S 1ERT =7 2
== 5%

A BB 21 6.3

A BB 27 7.3

A BB 32 6.1

A BB 33 6.2

A BB 34 8.5

A BB 35 8.4

A BB 36 6.7

A BB 37 2.4 [ |

A BB 40 3.8

A BB 41 4.0

A BB 42 3.9

S BB 43 5.2

A BB 47 5.3

A BB 49 5.3

A BB 51 6.0

A BB 52 6.3

A BB 53 5.4

A BB 54 5.6

A BB 57 5.6

A CA 7 3.3

A CA 39 3.8

A CA 90 7.3

A CA 91 7.3

A CA 102 25.4

A CA 119 5.5 [ |

S CA 142 5.6

A CA 144 14.8

A CA 165 8.0

A CA 13 6.5

EHL CB 3 5.8 | R3EE

I CB 4 2.9 | R3ikE

A CB 12 8.0

A CB 13 6.5 *

S CB 14 6.4

A CB 16 8.0

A CB 24 7.5

A CB 31 6.5

A CB 32 8.0

A CB 33 7.9

S CB 37 6.6

A CB 38 6.6

S CB 47 8.4

A CB 52 5.1 [ |

A CB 642 1.9

A CB 67 3.4 [ |

EHL CB 83 6.5 | R3IE=E

SEHE IR EH (R7)




SEHA | R | ST | RO i S 1ERT =7 e
== 5%

A DA 3 16.4
A DA 10/2 18.4
A DA 39 10.4
A DA 62 6.3
A DA 64 4.9
A DA 96 5.9
A DA 120 10.8
A DA 127 20.0
A DA 148 10.9
A DA 149 16.0
A DA 162 8.4
S DB 3 5.5
A DB 7 5.4
A DB 9 6.3
A DB 17 7.5
A DB 24 6.1
A DB 25 6.5
A DB 26 4.8
A DB 28 3.2
A DB 39 4.3
A DB 40 4.3
A DB 41 4.7
A DB 47 5.8
A DB 56 8.8
A DB 65 6.4
S DB 66 6.1
A DB 67 5.1
A DB 69 4.8
A DB 74 6.1
A DB 77 7.0
A DB 78 7.0
A EA 29 9.3
A EA 48 25.7
S EA 64 4.6
A EA 89 6.0
A FA 4 16.8
A FA 9 8.0
EHL FA 19 10.3 | R3IE
A FA 21 17.8
S FA 48 13.3
A FA 100 5.5
S FA 126 8.9
A FA 132 25.4
A FA 143 12.8
A FA 163 11.9
A FA 193 15.7
A FA 194 23.8
A FB 3|1 7.7
A FB 5 6.4
S FB 11 6.7

SEHE IR EH (R7)




SEHA | R | ST | RO i S 1ERT =7 e
== 5%

A FB 12 9.7

FEFH: L FB 14 8.9 | R3bE

A FB 36 4.9

A FB 42 8.1

A FB 43 8.5

A FB 53 2.3 [ |

A FB 59 4.8

A FB 77 7.6

A FB 80 7.7

A FB 81 7.4

A FB 83 7.2

S FB 87 6.3

A FB 88 10.0

A FB 90 5.9

A FB 105 8.0

A FB 106 6.7

A FB 111 4.6

A FB 112 4.5

A FB 117 7.8

AR GA 18]1 13.3 | R4 *

A GA 21 11.9 [ |

A GA 33 9.5

A GA 39 25.5 [ |

A GA 52 10.0

A GA 65 10.3

S GA 78 4.1

A GB 13 6.2

A GB 15 5.8

A GB 16 5.8

A GB 26 4.3 [ |

A GB 27 4.7

A GB 28 4.6

A GB 37 7.4

S GB 38 9.6

I GB 40 5.2 | R3GE

A GB 51 4.0 [ |

A GB 68 4.8

A GB 70 4.4 [ |

A HA 7 8.1

S HA 8 8.6 [ |

A HA 16 7.3

S HA 30 8.5

A HA 34 6.2

A HA 49 13.9

A HA 51 9.6

A HA 66 5.9

A HA 83 9.1

A HA 97 7.2

A HA 100 6.7

S HA 103 11.5

A HA 110 30.0

SEHE IR EH (R7)




MM |G| BT | R | {5 T =7 2
== 5%

A HA 118 12.6

A HA 144 5.0

A HA 151 6.7

A HA 174 8.0

A HA 176 10.9

A HA 182 7.5

A HB 13 4.4

SEHE IR EH (R7)




SEHA | R | ST | RO i S 1ERT =7 e
== 5%
A HB 14 4.4
A HB 18 6.6
A HB 19 3.9
A HB 20 3.9
A HB 21 4.6
A HB 22 4.7
A IA 42 15.2
A IA 140 6.0
A IA 141 5.8
A IA 144 3.2
A IA 193 9.0
S IA 202 5.2
A IB 1 4.5
A 1B 5 3.1
A IB 6 3.3
A 1B 7 3.9
A IB 10 3.8
A 1B 12 3.8
A IB 13 3.8
219
/EE 1,835.9 | 219[X[H

SEHE IR EH (R7)




MM |G| BT | R | {5 T =7 2
== 5%
#irE A 15 2.5
HErH A 16 10.1
#irE A 17 5.0
#ErH A 33[1 9.4 [ |
HEr A 44 14.1
#ErH A 45 12.3
HEr A 50 6.9 [ ]
HErH A 71 4.4
HEr A 106 28.0
#ErH A 108 9.0
HEr A 126 9.5
#ErH A 156 22.1 *
HEr A 203|1 7.1 [ ]
HErH A 207 20.2
HEr A 236 19.7
HErH A 239 19.0
HEr A 262 13.6
#ErH A 270 23.6
HEr A 279 5.1
#ErH A 292 11.7
HEr A 293 10.0
#ErH A 330 6.2 [ |
HEr A 334/3 9.6
HErH A 354 6.2
HEr A 372 3.7 [ ]
#ErH B 15 3.1 [ |
#ErE B 20 3.6
#EFE B 26 3.9
#ErE B 27 3.9
#EFE B 43 4.5
#irE B 44 4.6
#EFE B 45 5.2
HEr B 55 3.8 | R3IGE
#EFE B 72 3.9
34
/NEE 325.5 | 34XH
) A 43 20.0
1
/EE 20.0 ]
BEORIEE | A 37 8.1 *
EOREME | A 130 19.7
BEORIE | A 138 20.2
EOREME | A 150 22.6
BEORIE | A 160 12.2 |  R3ikE
EOREME | A 181 13.6 [ ]
BEORIEE | A 196 19.8 *
EOREME | A 247 30.1 | R3IGE
BEORIE | A 272 24.0

SEHE IR EH (R7)




SEHA | R | ST | RO i S 1ERT =7 2
== 5%
BEORIE | A 318 8.0
,%@/@ﬂ%% A 32111 7.5 |k bxmsE *
BEORE | A 3331 9.6 *
EOREME | A 349 9.9 [ |
BEORIEE | A 352 21.0
EOREME | A 366 8.0
EORIEE | A 381 16.4 [ |
,%@/@ﬂ%% A 38711 8.6 |#icky bhuxms s *
BEORIEE | A 423 8.1
EOREME | A 443 13.0 | R3bE
BEORE | A 462 25.0
EOREME | A 481 8.0
EORIEE | A 485 15.4 [ |
EOREME | A 4912 6.2 [ ]
BEORIE | A 496 5.3
EOREME | A 497 10.9 *
BEORIEE | A 503 7.4
EOREME | A 516 4.4 |  R3BGE
BEORE | A 534 5.0
EOREME | A 546 43.8 *
BEORIEE | A 576 17.3
EOREME | A 604 5.2
BEORE | A 744 10.5
EOREME | A 747 7.3
BEORIEE | A 776 4.4 | R3kE
EOREME | A 790 11.6 [ ]
BEORE | A 851 8.0 [ |
EoREME | B 37 12.1 *
EORIE | B 39 6.1
EOREME | B 44 5.5 *
EORIE | B 119 6.4 *
EoRErE | & 26~27 12.9 *
EORIEE | & 28~32 30.4 *
42
/EE 549.3 | 42D
P A 178 8.9 [ |
B A 308]1 12.1 | RaZ# *
N A A 325 14.2 *
Bk A 403 8.4
N A A 438 8.5
Bk A 464 5.9 [ |
N A A 545 18.7
S A 5531 3.6 | R3IEE
N A A 572 9.6 *
B A 758 13.0 *
N A A 759 25.0
Bk A 838 4.7
N A B 65 6.6
Bk B 127 4.1 [ |
N A B 162 9.2 *

SEHE IR EH (R7)




MM |G| BT | R | {5 T =7 2
== 5%
15
/NET 152.5 | 15PX[H|
oA ()| A 138 23.4
ofits (FE) | A 160 5.6
torss (FE) | A 175 9.1
ofiifs (FE) | A 203 5.1
tors (FE) | A 334 5.2
ofiits (FE) | A 344 6.2
o (Fe)| A | FERL 10.3
wmorElE ()| A 369 2 7.0 prisicky Luxmzs
ot f (BE)| B 7 2.0
9
/B 73.9 9 X e
oA ()| A 126 37.2 | R3EE
ot )| A 139 9.7
oL )| A 203 5.5
3
/NG 52.4 3IX ]

SEHE IR EH (R7)




MM |G| BT | R | {5 T =7 2
== 5%

K P T A 37 7.7

K A 115 3.0 m
KT A 238 8.0 u
R T A 360 14.7

IR P T A 386 6.6

K A 390 8.3 m
IR P T A 3931 5.8

R T A 408 3.0

K P T A 426 40.6

R T A 430 38.1

K PE T A 460 6.6

R T A 641 5.7

IR P T A 651 13.5 [ |
R T A 657|1 7.0

IR P T A 670 10.8

R T A 700 8.8

IR P T A 701 1.2

K T A 710 5.2 *
K P T A 799 4.9

K B 43 4.2 m
IR P T B 50 4.8 [ |
K T B 148 6.1 *
IR P T B 164 6.3

R T B 170 2.9

K PE T B 178 6.4 [ |

25
/NET 230.1 | 25X

SEHE IR EH (R7)




SEHA | R | ST | RO i S 1ERT =7 fres
== 5%

AL AA 22 7.1 [ |

bS] AA 28 7.0

AL AA 60 17.2 [ |

bS] AA 75 2.0 [ |

AL AA 115|2 6.3 [ |

Kl BA 37 16.6 | R3i&E

Al BA 48 11.2 | R3=E

bS] BA 51 15.4 [ |

AL BA 100 8.6 [ ]

bS] CA 53 8.2

AL CA 58 5.4 [ |

bS] CB 17 7.6 *

AL DA 6 6.0

Kl DA 25 14.9 |  R3ikE

AL DA 33 8.1 | H29i&E

bS] DA 39 11.8 [ |

Al DA 57 3.3 | R3EE

bS] DA 58 3.0

AL EA 2 16.5

bS] EA 14 11.7

AL EA 64 9.6 [ |

bS] EA 75 3.3 [ |

AL EA 82 6.0

bS] EA 84 8.5

AL EA 86 6.4

bS] EA 90 4.4

AL EA 93 8.6

bS] EB 3 4.1 [ |

AL FA 10 16.4

bS] FA 32 9.7 *

AL FA 44 7.3

bS] FA 61 8.8

AL FA 64 9.8 *

bS] FA 101 3.8 [ |

AL FA 114 13.1 *

bS] FA 116 9.8

Al FA 137 5.2 | R3EE

bS] GA 13 9.8 *

AL GA 34 10.1 *

bS] GA 58 7.9 [ |

AL GA 93 7.7 [ |

bS] GA 126 8.1 [ |

Al GA 134 7.6 | R3EE

bS] GA 167 11.9 [ |

AL GA 170 7.0 [ |

bS] GA 171 7.4 [ |

AL GA 175 4.2 [ |

bS] GA 177 4.2 [ |

AL HA 4 4.8

bS] HA 5 9.8

SEHE IR EH (R7)




VBT =7

EHh 4, B | BT 5 | B A k= / ==
== 5%
bS] HA 36 5.9
Al HA 55 5.1 | VANR#
bS] HA 71 5.1 | R3GE
AL HA 116 6.0 *
bS] HA 122 9.1
AL HB 9 4.4
bS] HB 14 4.9
AL HB 18 6.0
bS] IA 17 8.0
AL IA 30 37.1 [ |
bS] IA 43 8.0
AL IA 50 7.9 | H291GE
bS] A 67 13.0 [ |
AL IA 79(2 8.3 *
bS] A 81 9.5 *
Al IA 82 11.1 | R3=E
bS] IA 105 18.1
AL IA 141 8.2
bS] A 172 9.8 *
AL IA 187 11.7 [ |
Kl IA 190 4.9 | R3ikE
AL IA 198 13.1 [ |
bS] A 203 6.9 *
AL IA 205 5.8 [ |
bS] IA 221 2 5.0
Al 1B 4 10.6 | R3IE
Kl IB 9 5.4 | H27ii&E
AL 1B 14 9.2 *
bS] 1B 18 5.0
79
/NEE 686.2 | 79X

SEHE IR EH (R7)




MM |G| BT | R | {5 T =7 2
== 5%

H55 A 2 8.5 *

HI % A 3 21.1 *

H55 A 16 6.3 *

% A 42 7.3

1Y% A 43 4.9 *

% A 62 10.5 | R3E

1Y% A 71 3.3 | R3EE

HI% A 82 4.3 *

H55 A 83 9.9 *

% A 90 17.2

1Y% A 102 13.7

% A 115 11.6 | R3E

1Y% A 139 9.1

% A 166 12.9

1Y% A 167 13.0

e A 172 16.0 | FA{HIZE 5

1Y% A 181 8.5

% A 185 8.3

1Y% A 188 2.8

% A 217 6.9 *

1Y% A 240 8.0

% A 241 8.0

B A 273 14.0 *

% A 281 6.6

1Y% A 294 48.8

) A 322 7.0

1Y% A 353 6.6 *

% A 356 7.5

1Y% A 360 5.1 | R3EE

% A 398 3.6

1Y% A 403 3.3 | R3EE

% A 413 8.0

1Y% A 430 10.5

% A 433 10.2

1Y% A 437 7.3 | R3EE

% A 448 9.9

1Y% A 514 7.1 *

% A 516 4.0

1Y% A 521 8.3 | R3E&E

% A 522 5.2

1Y% A 526 12.0

% A 539 4.8

1Y% A 549 8.3

HI % A 572 26.6 *

1Y% A 580|1 8.7

% A 587 24.6

1Y% A 589|1 8.0 *

% A 604 5.3 *

1Y% A 605 20.0 *

HI % A 618 13.2 *

SEHE IR EH (R7)




FHh A4 Rl | BT T | R | AR ik VEEF = s
E¥R ik

% A 621 13.7
1Y% A 642 9.8
) A 643]1 6.7
1Y% A 654 4.8
% A 697 13.5 | R3IE
1Y% A 997 16.9
% A 1001 6.0
1Y% A 1008 10.5
% A 1015 9.4
1Y% A 1017 4.1
% A 1029 9.1 | R3BE
1Y% A 1043 26.0
% A 1270 9.9
1Y% A 1271 9.8 | R3IE&E
% A 1309 11.8
1Y% A 1330 9.0
% A 1338 14.1
1Y% A 1342 19.8
% A 1344 19.8
1Y% A 1365 5.0
% A 1373 5.0
1Y% A 1390 16.8
% A 1397 3.0
1Y% A 1403 9.9
% B 5 5.0
1Y% B 6 5.0
% B 8 4.7
1Y% B 9 4.4
% B 10 4.4
1Y% B 11 4.4
) B 12 4.5
1Y% B 13 4.5
% B 14 3.9
1Y% B 15 3.4
% B 16 3.3
1Y% B 18 3.1
% B 19 2.9
1Y% B 20 2.9
% B 21 2.9
1Y% B 22 4.0
% B 23 4.8
1Y% B 25 4.8
% B 26 4.2
1Y% B 27 3.7
) B 28 3.7
1Y% B 29 3.6
% B 30 5.2
1Y% B 31 6.7
) B 32 5.3
1Y% B 33 3.8

SEHE IR EH (R7)




%ﬂﬁ% Ea% %@T%% &%% ﬁf‘é 'f}tﬁ/‘% ﬁf%?‘lyﬂ Ve
== 5%
% B 34 4.1
1Y% B 39 3.4
% B 40 3.4
1Y% B 41 3.4
% B 42 6.0
1Y% B 43 4.2
) B 44 5.0
1Y% B 46 4.9
% B 47 4.8
1Y% B 48 4.7
% B 49 4.1
1Y% B 50 3.5
% B 51 6.5
1Y% B 52 3.5
% B 54 1.7
1Y% B 55 6.4
% B 56 2.2
1Y% B 57 4.4
% B 58 4.3
1Y% B 59 4.3
% B 60 4.3
1Y% B 62 3.2 | R3IGE
% B 63 4.0
1Y% B 64 3.9
% B 65 3.9
1Y% B 67 6.1
% B 68 6.0
1Y% B 69 6.1
% B 70 6.2
1Y% B 71 6.2
% B 72 6.2
1Y% B 73 6.2
% B 74 6.1
1Y% B 75 6.1
% B 76 6.9
1Y% B 77 7.8
% B 78 7.9
1Y% B 79 6.4
% B 81 6.2
139
139X &

e A S AR TR 105.0
% RS SR AT v 138.0

/NET 1,327.2

WS RIGAEE BNy 1,454.7

SEHE IR EH (R7)




